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One of the products is a gas so, if it is allowed to escape, the total mass as measured 
by the top pan balance will not include the mass of the gas so the mass will be lower than 
expected
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4- 4 grams of hydrogen reacts with some oxygen to make 36 grams of water. 
Figure out how much oxygen must have been used by applying the law of 
conservation of mass? 
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Wave peaks and troughs in the same positions on x-axis and crosses mid-point at same 
positions (any amplitude).

nothing / quiet / silence

 same

 same
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